T T OB:
60— e
oBS % T OBS
b | — Fivigovss 5 — RivLRovs _sof 8
 FHVIROVERWb302 Z FvERovEawbip02 g
oF B FHVLROVE3b2p05 s FHVLROVS3 w0205 3 40~ -
b | — ravirovsswaos < — FHVLROVE3 W30S 2
H FHVLROVS3wb3posis03 E @ FHVLROVS3wb3postso3 Ok N
£ = Fivisovesbaposios 23 At Rovabaposios 5
H o i S
] R 20k i
3 S 20
K £ %
- 2 10 -
1
| | | H , 1 L L L
0 o 20 o o £ 0 10 20
Latitude Latinde Latitude
o0 T T T OBs T T T OBS
80~ S s |
701 ] 10| 4
= =3 — nf J| — mviroves
Seop - g 5 — FHVLROVEIwhipo2
sl 1 3 0f B Tl | — mviroveawbapos
N 250 A BN | — mvLRovEawbipos
S 4ol ] G2 350 FHVLROVE3wb3p051s03
3 £ 20[- 4 ol ] HVLROVEIwb3poIs06
Sa0f - z
= =5 — £ 3
ok — sk B 10
0 I L ! | ! L
0 10 20 0 10 20
Latiude Latitude

cllcalipsozon clmcalipsozon crelszon

T T

ons T T T
ool J | = maviroves o — FVIROVEY HIVLROVSS
a — FHVLROVE3wbip02 - - FHVLRSVEwbI02 _ FHVLROVS3wb3p02
Tl 1= mvioviswares g PivLRVEbaps 3 viRoveoscs
z — FHVLROVE3wb3pos E — FHVLROVE3wb3p0s H FHVLROVS3wb)
40 FHVLROVS3wb3posls3 e FHVLROVE3wb3p0sis03 Z FHVLROVS3wb3p0sis03
g — FHVLROVESW3p0SIs06. < — FHVLROVENWh3pO0Sis06 8 ol FHVLR9VS3ub3poss06
H H £ L= FHVLROVEIhapsisd|
230 & -100] B
e g B
z : % ol
0 "ol -
| \ | | | | . , | \
0 30 T g o 20

10 10 10
Latitude: Lattude Latitude

creltzon cresszon crestzon

T OBS T T T

ol ] — Eviroves — Bviroves
g — FHVLROVS3wb3po2 = °F _ — FHVLROVS3wb3po2
g o | = mviroveswezpo g q FHVLROVEIW02505
2 o 3| = eaviroveawspos B g . FHVLROVEINO30S
i, FRVLROVSIb3ps103 z H FHVLROVS3ub3p01503
4 FHVLROVS3WD3pOS1S06. R | = mvirsvssbsposisos H — FHVLROVERUD3pOS06
H g i
8 2 3 50
3 E i
& = o 1 h

10
Latitude

ettzon hflszon

cretszon

o
-

T T T oBS T T T

O - .

_ = _ - g VN
E . FHVLROVS3WbipoS z — FHVLROVS3wb3poS & — FHVLROVS3wb3p0s
I : :

L ,

hfsszon hurszon

OBS T T OBS T
| — FHVLROVE3wh3po2 _ —— FHVLROVS3wh3po2 _ I | — FHVLROVS3whip02
| — EnviRovsawba0s H — EHVLROVS3wb3ps E L IVIROVEIbIOS
FHVLROVEb3p0S1s03 H FHVLROVSSwb3p051s03 f T 03
|| — FnviRovs3wb3p0sisos s s | — FHVLROVS3Wb3pSIs06 i 1| aviovsees
£ L N B g0l E|
1 L L 1 = L L L
prwzon przon pslzon
g FHVLROVE3wb3p02 H — FHVLROVS3wb3p02 _ — FHVLR9VS3wb3po2
H FHVLROVS3wb2p05 z FHVLROVESb205 2 0 FHVLROVS3wh2p0s
5 FHVLROVE3wb3pos. % sof | | — FHVLROVS3Wh3p0S ES — FHVLROVE3whip0s
2 E
$

10 10
Laitude Latitude

rahcrezon rahcszon rahzon

10
Latitude



Atm. LW Heat. - CRE (W/m2)

ons
FHVLROVE3
FHVLROVE3wh3p02
FHVLROVE3Wb2)05
FHVLROVE3Wb30S
FHVLROVS3wb3p0SIs03
FHVLRIVE3wb3p0Sis06

oBS
FHVLROVES
FHVLROVE3wb3po2

FHVLROVE3wb3posis06

)

00l

Atm. LW Heat, (W

250 L

oBS
FHVLR9VE3

FHVLROVE3wh3po2
FHVLROVE3Wh2p05.

FHVLROVE3Wh3posison

G m D g M 30
Laide Ladiude
T OBS T OBS - T BS
3| — Fivieovss 3| — Fivirovss a0l ] — Fviroves
3| = rviroveswespo: 3 3| = mvirovessespe: i = BaviRoveswes
— FHVLROVE3Wb2p0S aHiE LROVS3wh2p0S g 20r | — FHVIROVS3IWh20S
— FvLROVEwb3p0s H FIVLROVS3Wb3p05 2 a0l | — Favirovesunspos
FIIVLROVE3wb3p03103 2 FIVLROVS3wb3pOsis03 3 ol | rviroveswsposios
— FHVLROVEW03051506 g FHVLRSVS 35051508 g2 — mvn
Z 3 w0 ]
3 sisof 4
Z H
H Z of- ]
1o E
, , i | | | . | | \
0 E o o 20 0 0 E
Lot Laiude Laiude

T E| OBS OBS
_ 1= Bvikoveswno: T FVLROVS3wbipo2 ] BV
auk E ROVEIWh2H0S A1 = mviroveswny H FHVLROVS3wb2p0s
S0E 3| — mvirovesaos . | — mviroveswapos 3 — FHVLROVS3Wb305
= B0E 3 FHVLROVE3wb3poss03 £ 1 FHVLROVS3wb3posIs03 5 EHVLROVS3wh3p0sIs03
e 3| — mvirovsswbaposisos H FHVLROVS3wb3posis0s. o . EHVLROVS3Wb30SI06
2 200F E z 9 3 =
i E ] Z
E 3 . i 25| 4
rlutcszon rlutzon rsahcrezon
_IeE T E| oBs fird T E| oBs oBs
f 3| — mmvirovss of 3| — envirovss ﬁg — FHVLROVES
g FHVLROVESwh2p0s q EHVLROVS3wh2p05 B FHVLROVE3 b
z — EHVLROVE3whiphs % — FHVIROVE3Wb3 ks — EHVIROVE3wh3pS
5 o E FHVLROVE3Wh3p0S1s03 2 oF E FHVLROVE3Wh3p0s1s03 Z FHVIROVS3ub3posis0s
S nE 3| — Fvirovssunsposios inE 3| — mvirovsassposios g FHVLROVS3wbpOSIs06
3 sof 4 Es E| 3
2R 3 s E Z
10 1 1 il 10 il 1 il i il 1 L =
- 0 10 20 0 10 20 0 10 20
rsahcszon rsahzon rsdscszon
: . . ‘ B
. — FHVLROVES _ — FHVLROVES £ — RiviRovs:
250 | — FHVLROVE3WhIp2 Faso- | — FHVLROVS3Wb3p02 z — FHVLROVS3wb3p02
g FHVLROVSSwb2p05 5 FHVLROVS3wb2pos % 3| rvirovaswozos
i | = Favirovsswnapos Z 0| . FaviRovsabios g=op 3| Z Favirovesws
g FHVLROVE3wb3p0SIS03 2 EHVILROVE3Wb3p0sisos 3 20F 3 FHVLROVS3wb3p0s1s03
£ s || — Fuvirovsauwbaposison %150 FHVLROVE3Wb3p0s1s06. £ 20p E FHVIROVE3wb3p0S1s06
g 3 Z lsof- 3
5 100]- 4 = 100 i 2 i0E E
@ 3 Z0F 3
= 5 R0
L L L | I = L I L 3
a . FHVLROVS3wbip02 2 250 | = Envirovaswbapoz 2501 | = FnviRovsawbap0:
g o vre: : v N v
Z — FHVLROVE3wh3p0s 2001 | — FHvLROVS3WbIPOS ;E 2001~ | — FHVLROVS3Wb3pOS
3 FHVLROVE3Wb3poSis03 2 FHVLROVS3wb3posis03 z FHVLROVS3wb3p0sIs03
£ EEVLRVEbapsia 2l | = Rnvinoveausaoases e 1| = Rivinovesebanosane
£ 3 H
i :
4 H H
E HETS i sof- B

o]
193}
-+
=+
N
(=}
=

—
193}
=
17}
N
(=}
=

SWap st TOA ClearSky (Wim2)

]
w0
=
I
o
0
N
]
=]

Clear Sky Total Radiation TOA (Wrm2)
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Zonal wind stress (Nim2)
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